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Question Id : 92090626018 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090626019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906102801. 1
920906102802. 2
920906102803. 3
920906102804. 4

Question Number : 2 Question Id : 92090626020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906102805. 1
920906102806. 2
920906102807. 3
920906102808. 4

Question Number : 3 Question Id : 92090626021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906102809. 1
920906102810. 2
920906102811. 3
920906102812. 4

Question Number : 4 Question Id : 92090626022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906102813. 1
920906102814. 2
920906102815. 3
920906102816. 4

Question Number : 5 Question Id : 92090626023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906102817. 1
920906102818. 2
920906102819. 3
920906102820. 4



Question Id : 92090626018 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090626019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906102801. 1
920906102802. 2
920906102803. 3
920906102804. 4

Question Number : 2 Question Id : 92090626020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906102805. 1
920906102806. 2
920906102807. 3
920906102808. 4

Question Number : 3 Question Id : 92090626021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906102809. 1
920906102810. 2
920906102811. 3
920906102812. 4

Question Number : 4 Question Id : 92090626022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906102813. 1
920906102814. 2
920906102815. 3
920906102816. 4

Question Number : 5 Question Id : 92090626023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906102817. 1
920906102818. 2
920906102819. 3
920906102820. 4



Question Id : 92090626018 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Amid consistent rise in deaths of pedestrians and cyclists, Punjab has taken the lead
among the states and UTs to implement the ‘right to walk’ by making it mandatory for all
road owning agencies, including the NHAI, to provide foot path and cycle tracks in all
future expansion of roads and construction of new ones, reports Dipak Dash.

The state government has issued these directions following two court orders after

PILs were filed at Punjab and Haryana HC and another in the Supreme Court.
As per a communication from Punjab chief secretary Vijay Kumar Janjua to Punjab
government’s traffic adviser, Navdeep Asija, “in future all expansions of existing roads and
construction of new roads, a mandatory provision of cycle tracks and footpaths should be
made by all road owning departments and agencies”.

The letter sent last week added that all agencies such as the public works
department, local bodies, NHAl and urban development departments have been
instructed to prepare an action plan to construct footpaths and cycle tracks with a time
frame and budget provision.

TIMES VIEW: The right to walk is a cool idea. Pedestrian walkways and cycle tracks must
be built everywhere. However, we must also audit the existing tracks and examine their
lacunae. For instance, such tracks are regularly invaded by motorbikes. That apart,
pedestrian-only tracks often have huge gaps, which makes walking a dangerous exercise.
In other words, the right to walk must be converted into a proper mission with every angle
taken care of to make it a success.

Sub questions

Question Number : 1 Question Id : 92090626019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Amid consistent a decline in deaths of pedestrians and cyclists,
Punjab has taken the lead among the states and UTs to implement
the ‘right to walk'.

Statement I . The state government has issued these directions following two court
orders aften PILs were filed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is true but Statement Il is incorrect

4) Statement | is false but Statement Il is correct

Options :

920906102801. 1
920906102802. 2
920906102803. 3
920906102804. 4

Question Number : 2 Question Id : 92090626020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One of the lacunae associated with existing tracks, cycle tracks is:

(1)  motor bikes often use to go in them.
(2) Right to walk is exclusive in such cycle tracks.
(3)  Cycle tracks are clean and properly lighted.

(4) A much accomplished mission.

Options :

920906102805. 1
920906102806. 2
920906102807. 3
920906102808. 4

Question Number : 3 Question Id : 92090626021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which department was not instructed to prepare action plan for foot path construction.

(1) NHAI (2) PWD
(3) ubD (4) Rural development department (RDD)
Options :

920906102809. 1
920906102810. 2
920906102811. 3
920906102812. 4

Question Number : 4 Question Id : 92090626022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘lacunae’ is:

(1) Characteristic (2) Cavity
(3) Prominent portium (4) Speciality
Options :

920906102813. 1
920906102814. 2
920906102815. 3
920906102816. 4

Question Number : 5 Question Id : 92090626023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Full form of PIL is:

(1)  Private Insight Litigation (2) private Interest Litigation
(3)  Public Independent Litigation (4) Public Interest Litigation
Options :

920906102817. 1
920906102818. 2
920906102819. 3
920906102820. 4

Sub-Section Number : 2



Sub-Section Id : 920906839
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090626024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906102821. 1
920906102822. 2
920906102823. 3
920906102824. 4

Question Number : 6 Question Id : 92090626024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906102821. 1
920906102822. 2
920906102823. 3
920906102824. 4

Question Number : 6 Question Id : 92090626024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence:

(1) This in the best film that | am even seen.
(2) This in best film that | have ever seen.
(3) This in the best film that | have never seen.

(4) This in the best film that | even seeing.

Options :

920906102821. 1
920906102822. 2
920906102823. 3
920906102824. 4

Question Number : 7 Question Id : 92090626025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, "0 God take pity on me."

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906102825. 1
920906102826. 2
920906102827. 3
920906102828. 4

Question Number : 7 Question Id : 92090626025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906102825. 1
920906102826. 2
920906102827. 3
920906102828. 4

Question Number : 7 Question Id : 92090626025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct indirect narration for the following sentence:
The poor examinee said, “O God take pity on me.”

(1)  The poor examinee prayed God to take pity on him.
(2)  The poor examinee, invoking God, implored him to take pity on him.
(3)  The poor examinee exclaimed that God take pity on him.

(4)  The poor examinee asked God to take pity on him.

Options :

920906102825. 1
920906102826. 2
920906102827. 3
920906102828. 4

Question Number : 8 Question Id : 92090626026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906102829. 1
920906102830. 2
920906102831. 3
920906102832. 4

Question Number : 8 Question Id : 92090626026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906102829. 1
920906102830. 2
920906102831. 3
920906102832. 4

Question Number : 8 Question Id : 92090626026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct passive voice form of the following sentence:
Why was she looking at the scenery?

(1)  Why was the scenery looking at by her?

(2)  Why was the scenery being looked at by her?
(3) Why did she look at the scenery?

(4)  Why was the scenery being looked by her?

Options :

920906102829. 1
920906102830. 2
920906102831. 3
920906102832. 4

Question Number : 9 Question Id : 92090626027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1 primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906102833. 1
920906102834. 2
920906102835. 3
920906102836. 4

Question Number : 9 Question Id : 92090626027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric
(1) primitive (2) civilized
(3) modern (4) uncivilized

Options :



920906102833. 1
920906102834. 2
920906102835. 3
920906102836. 4

Question Number : 9 Question Id : 92090626027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option which is opposite in meaning to the following word:

barbaric

(1 primitive (2) civilized

(3) modern (4) uncivilized
Options :

920906102833. 1
920906102834. 2
920906102835. 3
920906102836. 4

Question Number : 10 Question Id : 92090626028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906102837. 1
920906102838. 2
920906102839. 3
920906102840. 4

Question Number : 10 Question Id : 92090626028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906102837. 1
920906102838. 2
920906102839. 3
920906102840. 4

Question Number : 10 Question Id : 92090626028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out the part of speech of the underlined word in the following sentence.

Natural thrist is more graciously gratified by water.

(1) verb (2) adjective
(3) noun (4) adverb
Options :

920906102837. 1
920906102838. 2
920906102839. 3
920906102840. 4

Question Number : 11 Question Id : 92090626029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906102841. 1
920906102842. 2
920906102843. 3
920906102844. 4



Question Number : 11 Question Id : 92090626029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906102841. 1
920906102842. 2
920906102843. 3
920906102844. 4

Question Number : 11 Question Id : 92090626029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of chromosome present in Human?

(1) 40 pairs (2) 24 pairs
(3) 23 pairs (4) 32 pairs
Options :

920906102841. 1
920906102842. 2
920906102843. 3
920906102844. 4

Question Number : 12 Question Id : 92090626030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906102845. 1
920906102846. 2
920906102847. 3



920906102848. 4

Question Number : 12 Question Id : 92090626030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven 4) five
Options :

920906102845. 1
920906102846. 2
920906102847. 3
920906102848. 4

Question Number : 12 Question Id : 92090626030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As of 2020, how many languages in India are given the states of classical languages in
constitution of India?

(1) six (2) eight
(3) seven (4) five
Options :

920906102845. 1
920906102846. 2
920906102847. 3
920906102848. 4

Question Number : 13 Question Id : 92090626031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906102849. 1
920906102850. 2
920906102851. 3
920906102852. 4

Question Number : 13 Question Id : 92090626031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906102849. 1
920906102850. 2
920906102851. 3
920906102852. 4

Question Number : 13 Question Id : 92090626031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Dadasaheb phalke Award Year  Lifetime achievement, Name of the
awardee
(A) 2017 ()  Rajnikanth
(B) 2018 (1 Asha Parekh
(C) 2019 () Vinod Khanna
(D) 2022 (IV) Amitabh Bachchan

Choose the correct answer from the options given below:

(1) (A-), B)-(), (C)-(I), (D)-(IV)
(2)  (A)-(1), (B)-(IV), (O)-(1). (D)-(1N)
(3) (A=, (B)-(), (C)-(IV), (D)-(1)
4) (A=), (B)-(1), (C)-(I), (D)-(1)

Options :

920906102849. 1
920906102850. 2
920906102851. 3
920906102852. 4

Question Number : 14 Question Id : 92090626032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906102853. 1
920906102854. 2
920906102855. 3
920906102856. 4

Question Number : 14 Question Id : 92090626032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906102853. 1
920906102854. 2
920906102855. 3
920906102856. 4

Question Number : 14 Question Id : 92090626032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . According to the Global Innovation Index, 2021 India has ranked
46" in the Global Innovation Index, 2021.

Statement Il . According to the Global Innovation Index, 2021 the Republic of Korea
Joins the top 5 of the Gl for the first time in 2021.

In light of the above statements, choose the most appropriate answer from the options
given below

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

920906102853. 1
920906102854. 2
920906102855. 3
920906102856. 4

Question Number : 15 Question Id : 92090626033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

§))] Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906102857. 1
920906102858. 2
920906102859. 3
920906102860. 4



Question Number : 15 Question Id : 92090626033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906102857. 1
920906102858. 2
920906102859. 3
920906102860. 4

Question Number : 15 Question Id : 92090626033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the first PIO women to set record of 1397 km (at —50 °C) solo, unsupported track to
South Pole?

(1) Harpreet Chandi (2) Arunima Sinha
(3) Bachendri Pal (4) Junko Tabei
Options :

920906102857. 1
920906102858. 2
920906102859. 3
920906102860. 4

Question Number : 16 Question Id : 92090626034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below

() BCAED (20 B,CEAD
(3) C.B.EAD 4 CAEBD
Options :

920906102861. 1
920906102862. 2
920906102863. 3
920906102864. 4

Question Number : 16 Question Id : 92090626034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E. 385

Choose the correct answer from the options given below
() BCAED 2 B.CEAD

(3) C.B.EAD 4 CAEBD



Options :

920906102861. 1
920906102862. 2
920906102863. 3
920906102864. 4

Question Number : 16 Question Id : 92090626034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify the
correct sequence of numbers in the ascending order.

A 216
B. 793
C. 682
D. 497
E;, 385

Choose the correct answer from the options given below

() BCAED (2) B.CEAD
(3) C.B.EAD (4 CAERBD
Options :

920906102861. 1
920906102862. 2
920906102863. 3
920906102864. 4

Question Number : 17 Question Id : 92090626035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(n Mother (2) Aunty
(3) Daughter (4) Sister



Options :

920906102865. 1
920906102866. 2
920906102867 3
920906102868. 4

Question Number : 17 Question Id : 92090626035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

(1) Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906102865. 1
920906102866. 2
920906102867. 3
920906102868. 4

Question Number : 17 Question Id : 92090626035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rama said to mohan “Last Monday | defined the sister of the only son of any grandfather”.
Whom did rama defect?

()] Mother (2) Aunty
(3) Daughter (4) Sister
Options :

920906102865. 1
920906102866. 2
920906102867. 3
920906102868. 4

Question Number : 18 Question Id : 92090626036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906102869. 1
920906102870. 2
920906102871. 3
920906102872. 4

Question Number : 18 Question Id : 92090626036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906102869. 1
920906102870. 2
920906102871. 3
920906102872. 4

Question Number : 18 Question Id : 92090626036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Preeti, Kirti, Rinki and Swati get one flower each from among Rose, Marigold, Dahlia or
Tulip whose plants are placed in a sequence in the garden. Rinki gets the Dahlia flower.
Marogold plant is adjacent to the Tulip plant. Preeti does not get the flower from the
plant adjacent to the plant whose flower was given to Rinki. Dahlia plant is the only plant

in between the Marigold and Rose plants. Which flower does preeti get?

(1) Rose (2) Marigold
(3) Dahlia (4) Tulip
Options :

920906102869. 1
920906102870. 2
920906102871. 3
920906102872. 4

Question Number : 19 Question Id : 92090626037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(g & (2) 22
(3) 23 4) 24
Options :

920906102873. 1
920906102874. 2
920906102875. 3
920906102876. 4

Question Number : 19 Question Id : 92090626037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2 22
(3) 23 4) 24
Options :

920906102873. 1



920906102874. 2
920906102875. 3
920906102876. 4

Question Number : 19 Question Id : 92090626037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 11, 18, 13, 20, 15, ....... Which one of the following numbers should
come next in the series?

(m 21 (2) 22
(3) 23 4) 24
Options :

920906102873. 1
920906102874. 2
920906102875. 3
920906102876. 4

Question Number : 20 Question Id : 92090626038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
In a certain code 'BRIGHT' is written as ‘'ATHIGV' then in the same code

Statement | * 'NORTH' will be written as ‘'MPSVG' and

Statement I - "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true

(2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true
Options :

920906102877. 1
920906102878. 2



920906102879. 3
920906102880. 4

Question Number : 20 Question Id : 92090626038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGV' then in the same code

Statement | © 'NORTH' will be written as ‘'MPSVG' and

Statement I . "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906102877. 1
920906102878. 2
920906102879. 3
920906102880. 4

Question Number : 20 Question Id : 92090626038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
In a certain code 'BRIGHT' is written as ‘ATHIGV' then in the same code

Statement | © 'NORTH' will be written as ‘'MPSVG' and

Statement I . "WATER' will be written as 'VCSGS'

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

920906102877. 1
920906102878. 2
920906102879. 3
920906102880. 4

Question Number : 21 Question Id : 92090626039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906102881. 1
920906102882. 2
920906102883. 3
920906102884. 4

Question Number : 21 Question Id : 92090626039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906102881. 1
920906102882. 2
920906102883. 3
920906102884. 4

Question Number : 21 Question Id : 92090626039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mohan invest a certain sum at the rate of Simple Interest 5% per annum. Find the number
of years for which Mohan has to invest the the sum to double his sum:

(1) 25 years (2) 20 years
(3) 18 years (4) 15 years
Options :

920906102881. 1
920906102882. 2
920906102883. 3
920906102884. 4

Question Number : 22 Question Id : 92090626040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906102885. 1
920906102886. 2



920906102887. 3
920906102888. 4

Question Number : 22 Question Id : 92090626040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5 km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906102885. 1
920906102886. 2
920906102887. 3
920906102888. 4

Question Number : 22 Question Id : 92090626040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sonu and Monu start together from point A to reach to B, with speeds, 5 km/h and 3 km/h
respectively. If Sonu reaches B one hour before Monu, then the distance between A and B
is:

(1) 5 km (2) 6km
(3) 6.5 km (4) 7.5km
Options :

920906102885. 1
920906102886. 2
920906102887. 3
920906102888. 4

Question Number : 23 Question Id : 92090626041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(M) 15% (2) 40%
(3) 7.5% (4) 20%
Options :

920906102889. 1
920906102890. 2
920906102891. 3
920906102892. 4

Question Number : 23 Question Id : 92090626041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(M 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906102889. 1
920906102890. 2
920906102891. 3
920906102892. 4

Question Number : 23 Question Id : 92090626041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Renu speaks truth in 70% of the cases and Bina in 75% of the cases. The percentage of
ceses they are likely to contradict each other in stating the same fact is:

(1 15% (2) 40%
(3) 7.5% 4) 20%
Options :

920906102889. 1
920906102890. 2
920906102891. 3



920906102892. 4

Question Number : 24 Question Id : 92090626042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There the valueof a° + b® + -3 abc is

(M 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906102893. 1
920906102894. 2
920906102895. 3
920906102896. 4

Question Number : 24 Question Id : 92090626042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueof a® + b® + -3 abc is

(M) 14200 (2) 14400
(3) 14800 (4) 13800
Options :

920906102893. 1
920906102894. 2
920906102895. 3
920906102896. 4

Question Number : 24 Question Id : 92090626042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifa=130,b =133 and c = 137, There thevalueof a® + b®* + -3 abc is

(1) 14200 (2) 14400
(3) 14800 (4) 13800

Options :



920906102893. 1
920906102894. 2
920906102895. 3
920906102896. 4

Question Number : 25 Question Id : 92090626043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906102897. 1
920906102898. 2
920906102899. 3
920906102900. 4

Question Number : 25 Question Id : 92090626043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following discount option in most beneficial for shop keeper?
(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.
(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906102897. 1
920906102898. 2
920906102899. 3
920906102900. 4

Question Number : 25 Question Id : 92090626043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following discount option in most beneficial for shop keeper?

(A) Successive discount of 20%, 30% and then pay 10% Service Tax.

(B) Successive discount of 30%, 10% and then pay 10% Service Tax.

(C) Pay Service Tax of 10% first, then successive discount of 20%, 30%.

(D) Pay Service Tax of 10% first, then successive discount of 30%, 20%.

Choose the most appropriate answer from the options given below:

(1) D only (2) A, Bonly
(3) B, C, D only (4) A, C Donly
Options :

920906102897. 1
920906102898. 2
920906102899. 3
920906102900. 4
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Section Marks : 300
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Question Number : 26 Question Id : 92090626044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{E 71 YU2 OISAE D2HAL.
HE8 M Yoo 2 20| ( ) U0 e.
1 Eof
2) 2
3) 29
4) A
Options :

920906102901. 1
920906102902. 2
920906102903. 3
920906102904. 4
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( ) Ol 012 7HE €2 DISAE 12HA 2

HEE A Yo 2= 29| ¢ ) U],
) EOot
2y ©3
3) E9Y
4) A
Options :

920906102901. 1
920906102902. 2
920906102903. 3
920906102904. 4

Question Number : 26 Question Id : 92090626044 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{Z 7H €22 TSAME 12HA L.

]
2)
3)
4)

nd n nfitong
g = 2

4

Options :

920906102901. 1
920906102902. 2
920906102903. 3
920906102904. 4
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Correct Marks : 4 Wrong Marks : 1

( ) Off S0{Z JHE L2 CHOIE N24A L.
( ) AlMO| DE LM AFRAl0 U2 Hea.
1)
2) 4
3) Ho
4) 483
Options :

920906102905. 1
920906102906. 2
920906102907. 3
920906102908. 4

Question Number : 27 Question Id : 92090626045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol SO{Z 7HE Y92 THojE nE2HAL,
( ) Aldo| DE LI AIRAO| 12 HYe.
1) o
2) 44
3) Ho
4) dE2
Options :

920906102905. 1
920906102906. 2
920906102907 3
920906102908. 4

Question Number : 27 Question Id : 92090626045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) Ol S012 7HE 2H2 HOE D2HUAL

( ) Aldo| DE LI AIRAO| 12 HYe.

1)
2)
3)
4)

B
0z o

0k

i
1o

A

0%
oz

Options :

920906102905. 1
920906102906. 2
920906102907. 3
920906102908. 4

Question Number : 28 Question Id : 92090626046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{Z 7HE 232 BHOE NEHAML.
UMM HEStA LT H=AHTA ( Al 3 Eoj €% S0 2k

1) stetct
2) Ygstct
3) Zhelsict
4) EorCHct

Options :

920906102909. 1
920906102910. 2
920906102911. 3
920906102912. 4

Question Number : 28 Question Id : 92090626046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{Z 718 S92 HOE 12N 2
of{ UMM HESA LD =AM ( Al 23 FHof| 2 S0 2k

1) Y=tstct
2) YA
3) ZHSHCE
4) E0pCHCt

Options :

920906102909. 1
920906102910. 2
920906102911. 3
920906102912. 4

Question Number : 28 Question Id : 92090626046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )0l S0{Z 7HE L2 COE NEHA L.
O{TH L | A HHESEA| LI = HIDLXR] ( A 22 Eofl 23 50 2+

1) Y=ot
2) Y&
3) ZHestct
4) E0tCHHC

Options :

920906102909. 1
920906102910. 2
920906102911. 3
920906102912. 4



Question Number : 29 Question Id : 92090626047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct

rg

S0

oo

A 8le AE 12HAL,

1) EAM
2) HiE
3) MM
4) HF=

Options :

920906102913. 1
920906102914. 2
920906102915. 3
920906102916. 4

Question Number : 29 Question Id : 92090626047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct

rg

=0

oo

A 8lE AdEg 12HAL
(

1) EAM|
2) HiE
3) A%AM
4) BESa

Options :

920906102913. 1
920906102914. 2
920906102915. 3
920906102916. 4

Question Number : 29 Question Id : 92090626047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ct A gle AE 124AL

g

=0

oo

1) EAM
2) Hi&E
3) AlefM
4) BES3

Options :

920906102913. 1
920906102914. 2
920906102915. 3
920906102916. 4

Question Number : 30 Question Id : 92090626048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs B3O 718 222 S8 124A 2.

E5Y

1) Patent Act

2) Special Law

3) Special Approval Act

4) Intellectual Property Act

Options :

920906102917. 1
920906102918. 2
920906102919. 3
920906102920. 4

Question Number : 30 Question Id : 92090626048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chs B30 718 22 T8 124AM 2.

E5Y

1) Patent Act

2) Special Law

3) Special Approval Act

4) Intellectual Property Act

Options :

920906102917. 1
920906102918. 2
920906102919. 3
920906102920. 4

Question Number : 30 Question Id : 92090626048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cts 239 7tE 222 S8 124A 2.

E5Y

1) Patent Act

2) Special Law

3) Special Approval Act

4) Intellectual Property Act

Options :

920906102917. 1
920906102918. 2
920906102919. 3
920906102920. 4

Question Number : 31 Question Id : 92090626049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Order
2} Wrist ornament
3) Discharge

4} Evaluation

Options :

920906102921. 1
920906102922. 2
920906102923. 3
920906102924. 4

Question Number : 31 Question Id : 92090626049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che B3O 718 222 T8 124AM 2.

e

1) Order
2} Wrist ornament
3) Discharge

4} Evaluation

Options :

920906102921. 1
920906102922. 2
920906102923. 3
920906102924. 4

Question Number : 31 Question Id : 92090626049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Order
2} Wrist ornament
3) Discharge

4} Evaluation

Options :

920906102921. 1
920906102922. 2
920906102923. 3
920906102924. 4

Question Number : 32 Question Id : 92090626050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che & 7t8 &7 98 28 124A2.

List | List It
A MA I. Jaundice
B. 1E Il. Diarrhea
C.d49 l1l. Vomiting
D. &g IV. Infection

1. A-Il, B-Ull, C-l, D-1V
2. A-ll, B-lll, -1V, D-
3. A-lll, B-ll, C-1, D-IV

4. A-lll, B-I, C-1V, D-I



Options :

920906102925. 1
920906102926. 2
920906102927. 3
920906102928. 4

Question Number : 32 Question Id : 92090626050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che & 718 9 8% A8 12402
List | List Il
A, A} l. Jaundice
B.2E Il. Diarrhea
C &9 lll. Vomiting
D. &g IV. Infection

1. A-ll, B-1ll, C-I, D-IV
2. A-ll, B-lil, C-1V, D-
3. A-llL, B-lI, CH, DIV

4. A-Ill, B-I, C-1V, D-

Options :

920906102925. 1
920906102926. 2
920906102927. 3
920906102928. 4

Question Number : 32 Question Id : 92090626050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che 8 7H8 &4 988 28 12HA2.

List | List 11
A MAl I. Jaundice
B. 1E Il. Diarrhea
C #4 lll. Vomiting
D. =g IV. Infection

1. A-Il, B-Hl, C-I, D-IV
2. A-ll, B-lll, C-IV, D-
3. Al B-I, - DIV

4. A-ll, B-1I, C-1V, D-

Options :

920906102925. 1
920906102926. 2
920906102927. 3
920906102928. 4

Question Number : 33 Question Id : 92090626051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List | List 11
A 1gd |. Dizziness
B. HEY Il. Hypoglycemia
C EUS lll. Hyperglycemia
D.®7|5 IV. Insomnia

1. A-IV, B-l, C-II, D-IN
2. A-IV, B-I, C-lil, D-I
3. A-lll, B-ll, C-I, D-IV

4. A-lll, B-II, C-IV, DA

Options :

920906102929. 1
920906102930. 2
920906102931. 3
920906102932. 4

Question Number : 33 Question Id : 92090626051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List | List 11
A 1gd |. Dizziness
B. HEY Il. Hypoglycemia
C EUS lll. Hyperglycemia
D.®7|5 IV. Insomnia

1. A-IV, B-l, C-II, D-IN
2. A-IV, B-I, C-lil, D-I
3. A-lll, B-ll, C-I, D-IV

4. A-lll, B-II, C-IV, DA

Options :

920906102929. 1
920906102930. 2
920906102931. 3
920906102932. 4

Question Number : 33 Question Id : 92090626051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List | List 11
A 1gd |. Dizziness
B. HEY Il. Hypoglycemia
C EUS lll. Hyperglycemia
D.®7|5 IV. Insomnia

1. A-IV, B-l, C-II, D-IN
2. A-IV, B-I, C-lil, D-I
3. A-lll, B-ll, C-I, D-IV

4. A-lll, B-II, C-IV, DA

Options :

920906102929. 1
920906102930. 2
920906102931. 3
920906102932. 4

Question Number : 34 Question Id : 92090626052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List 1

List 1l

A EYUTESMNZL

I. Certificate of Alien Registration

Il. Ward Community Hall

lll. Ward Office

IV. Immigration Office

1. A-IV, B-1, C-1I, D-1lI
2. A-IV, B-I, C-lIl, DA
3. A-lll; B-l; O, D-IV
4. A-lll, B-1I, C-IV, D-

Options :

920906102933. 1
920906102934. 2
920906102935. 3
920906102936. 4

Question Number : 34 Question Id : 92090626052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1




List 1

List 1l

A EYUTESMNZL

I. Certificate of Alien Registration

Il. Ward Community Hall

lll. Ward Office

IV. Immigration Office

1. A-IV, B-1, C-1I, D-1lI
2. A-IV, B-I, C-lIl, DA
3. A-lll; B-l; O, D-IV
4. A-lll, B-1I, C-IV, D-

Options :

920906102933. 1
920906102934. 2
920906102935. 3
920906102936. 4

Question Number : 34 Question Id : 92090626052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1




List 1

List 1l

A EYUTESMNZL

I. Certificate of Alien Registration

Il. Ward Community Hall

lll. Ward Office

IV. Immigration Office

1. A-IV, B-1, C-1I, D-1lI
2. A-IV, B-I, C-lIl, DA
3. A-lll; B-l; O, D-IV
4. A-lll, B-1I, C-IV, D-

Options :

920906102933. 1
920906102934. 2
920906102935. 3
920906102936. 4

Question Number : 35 Question Id : 92090626053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol 0|2 71 52 A8 N=24A L.

20| "HF m25UN 252 25 HO| 7t | )" Stal 2,

1) +{0{0FX|
2) €44

3) #Gat
4) #72|= o

Options :



920906102937. 1
920906102938. 2
920906102939. 3
920906102940. 4

Question Number : 35 Question Id : 92090626053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol 0|2 71 52 A8 N=24A L.

20l "H ] m25tn 252 EF Ho| 7hA ( )" Stal 2,

1) +{0{0FX|
2) €44

3) #Gat
4) 77| % of

Options :

920906102937. 1
920906102938. 2
920906102939. 3
920906102940. 4

Question Number : 35 Question Id : 92090626053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{Z 718 LH2 28 A2HA L,

+20l& "H ] D25t n 252 ZH Fo 7HA ( ] - (=

1) #{0{0Fx]
2) €4

3) #42t
4) #7|= &

Options :
920906102937. 1



920906102938. 2
920906102939. 3
920906102940. 4

Question Number : 36 Question Id : 92090626054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct

gjo
me

F I £330 907} H|zTt AE N24AL

AlE 7|2t 2 55 90| BOotM TA 20 HMEE 28 H SUCtH

1) 2{OF ML
2) = W
3) #H FRUC
4) FHA ACt

Options :

920906102941. 1
920906102942. 2
920906102943. 3
920906102944. 4

Question Number : 36 Question Id : 92090626054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct

ojo
me

E 223 90|17t BT HE D2HA L.

—_

AlE 7|2t 32 SF5HE 20| BOotM TA 20 HMEE 28 A SUCtH

1) #Of Lt
2) = Wk
3) A UG
4) HH MCE
Options :
920906102941. 1

920906102942. 2
920906102943. 3



920906102944. 4

Question Number : 36 Question Id : 92090626054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ct

ojo

2E H RE0 90|17 vt A8 D2HAL,

Alg 7|2t et SF5= 940| BOotM A 20 HMEE 28 # S0t

1) #of JCt

) HE At

3) A FUCt

4) FHA AHC
Options :

920906102941. 1
920906102942. 2
920906102943. 3
920906102944. 4

Question Number : 37 Question Id : 92090626055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cl &4 | 1O E0{Z 822 JhE Uot2 Jig N2 A2,

BHEXS 28 X220 2EH 2015 9 et=x212 LF U 122 3] HI|E O A2 2 LIEFICH
golgol A3 BEE YOIHAIN HI| AP 98] 30% S74HCE.  wA wye
A aH|20| 0| T 6.9 3] Y 2O 2 LIEILLE SH20059 ( ] (HOek
Ot ZAL 22 TH=012| AH 0| HE Mol ASE CHA| SHH 2oIg &= QI]ICH

1) Mo X|Z LS
2) MEMOI AMY D8
3) 4| Hefo| H3E

4) 231H|9} AlH|o| X0|2

Options :
920906102945. 1



920906102946. 2
920906102947. 3
920906102948. 4

Question Number : 37 Question Id : 92090626055 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cle &1 ( ) Ol 201 UE22 7HE g2 Zig NEMHA L.

FY0| 122 2] HO|E Op4 Ao =2 LIEHECE
23| 30% S2HUCh HIH  AEe
ct

1) 4|0l XIS S
2) MEHQ ANY 248
3) 4| Helo| wstE

4) E=HH|2t HH|9| X0l

Options :

920906102945. 1
920906102946. 2
920906102947 3
920906102948. 4

Question Number : 37 Question Id : 92090626055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cls 213 ( 10| S0{d 8o 2 JHE ¢ote HE NE2MAQ.

L
e

]
C

2|5 SE X202 0 2015 ¥ B3 012 YFU0| 1223] HI|E OHA 242 LEEFECE
ABISo| BT BEE YOLMAID HI| £6|Y2 98]2f 30% SIHUCE  HE  wye
A& AHZO| FO| T 69 3] B U2 LIEHLLCH BRI ( ) BOFE
O] ZAt ZIH2 BR0I0| AL TO| HH ATED USE CHA| B Solg 4 QAUCH

1) Wgulo| X|E WY

2) MEHQ ANY B8

3) AH| Helol ¥etE

4) 2slH|2t Alb|o] Kjo|S

Options :

920906102945. 1
920906102946. 2
920906102947. 3
920906102948. 4

Question Number : 38 Question Id : 92090626056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Che S 7t8 S e8¢ 218 124A 2.

List | List Il
A. Hydrogen |, Bt
B. Carbon [
C. Nitrogen m. 24
D. Oxygen V. =2

1. A-IV, B-l, C-HI, D1
2. A-IV, B-I, C-lil, D-I
3. A-lll, B-1l, C-1, D-IV
4. A-lll, B-1I, C-1V, DA

Options :



920906102949. 1
920906102950. 2
920906102951. 3
920906102952. 4

Question Number : 38 Question Id : 92090626056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che & 7t &7 S8 28 n2HA2.

List | List Ii
A. Hydrogen l. Bt
B. Carbon I, b2
C. Nitrogen . 24
D. Oxygen V. =2

1. A-IV, B-, C-ll, D-1Nl
2. A-IV, B-I, C-lil, D-I
3. A-lll, B-ll, C-l, D-IV
4. A-Ill, B-I, C-1V, D-

Options :

920906102949. 1
920906102950. 2
920906102951. 3
920906102952. 4

Question Number : 38 Question Id : 92090626056 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che & 718 & 980 28 124A 2.

List | List I
A. Hydrogen l. Bt
B. Carbon s
C. Nitrogen n. 24
D. Oxygen V. =2

1. A-IV, B-l, C-ll, D-1l
2. A-IV, B-|, CHII, DA
3. A-lll, B-1l, C-1, D-IV
4. A-li, B-1I, C-IV, D-

Options :

920906102949. 1
920906102950. 2
920906102951. 3
920906102952. 4

Question Number : 39 Question Id : 92090626057 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs SHAIO{S] SHE2 o2 BHE N24A 2.

i
E

1) o

2) B3
3) Eix
4 H3

Options :

920906102953. 1
920906102954. 2
920906102955. 3
920906102956. 4



Question Number : 39 Question Id : 92090626057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che SHAtO{o] S22 ot= HHE A28 A2

1) ==

2) &3

3) EH=

4 H=
Options :
920906102953. 1
920906102954. 2

920906102955. 3
920906102956. 4

Question Number : 39 Question Id : 92090626057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che SHAIO{S] S22 ot= BEHE N24A 2.

1) o=

2) &3

3) ES

4 H=
Options :
920906102953. 1
920906102954. 2

920906102955. 3
920906102956. 4

Question Number : 40 Question Id : 92090626058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Chs THALOjS] L2 Tl=2 BEHE N24A |2

-

LS
o= ox o-
e ox ox oA

&
o

Options :

920906102957. 1
920906102958. 2
920906102959. 3
920906102960. 4

Question Number : 40 Question Id : 92090626058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—
e
L

o
o ox ox o2

w
o= ox o> ox

&

Options :

920906102957. 1
920906102958. 2
920906102959. 3
920906102960. 4

Question Number : 40 Question Id : 92090626058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e ox oz o

w
o= ox o= ox

&

Options :

920906102957. 1
920906102958. 2
920906102959. 3
920906102960. 4

Question Number : 41 Question Id : 92090626059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs THAI0jS] L2 ol=2 BEHE N24A|2.

&
)

LS
oo
MM

L
pL

IS
r
+ of

Options :

920906102961. 1
920906102962. 2
920906102963. 3
920906102964. 4

Question Number : 41 Question Id : 92090626059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LS
oo
MM

L
pL

IS
r
+ of

Options :

920906102961. 1
920906102962. 2
920906102963. 3
920906102964. 4

Question Number : 41 Question Id : 92090626059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs StAtoje] et2 ot2 &

ret

£ N2HAQ.

25

(%] —
Mmoo
MM

&
r
4 of

Options :

920906102961. 1
920906102962. 2
920906102963. 3
920906102964. 4

Question Number : 42 Question Id : 92090626060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



n
ajo
rot
il
rn
2
j1=]
ne
AZ
rlo
ro
i

0 & D24A2.

=
=4

1) bR
2) @3
3) A
4 12

Options :

920906102965. 1
920906102966. 2
920906102967 3
920906102968. 4

Question Number : 42 Question Id : 92090626060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che ot2 CHoj2 2 S0 E D2HA L.

Options :

920906102965. 1
920906102966. 2
920906102967. 3
920906102968. 4

Question Number : 42 Question Id : 92090626060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



n
ajo
rot
g
ra
2
ji=}
ne
na
rlo
rot
i

0 & D24A2.

=
=4

1) LR
2) BB
3) Al
4 12

Options :

920906102965. 1
920906102966. 2
920906102967 3
920906102968. 4

Question Number : 43 Question Id : 92090626061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che AFAEOIo] RS2 T2 BHE AEHA L

&

e

Options :

920906102969. 1
920906102970. 2
920906102971. 3
920906102972. 4

Question Number : 43 Question Id : 92090626061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che AFAHEOjg] HSt2 ot2 B8 n24A| 2.

SRR A

1) ol
2) elgojel
3) Zgoel
4) Argo|ol
Options :

920906102969. 1
920906102970. 2
920906102971. 3
920906102972. 4

Question Number : 43 Question Id : 92090626061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che ARG 0| 2SE2 o2 BEHE 1242

SRR A

1) ol
2) elgojel
3) Zgoel
4) Argo|ol
Options :

920906102969. 1
920906102970. 2
920906102971. 3
920906102972. 4

Question Number : 44 Question Id : 92090626062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1o

ChE AAHEOf

Ctrto) M

Y2 SHALOIE N2HA|2.

) BERE
) KEKPI
3 BEIA
s RRME

Options :

920906102973. 1
920906102974. 2
920906102975. 3
920906102976. 4

Question Number : 44 Question Id : 92090626062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che AFAHE0{o] 22 BHAIOE DEHAIR.

ChCFal M

N e

) ZZ2RE
2 XX
3 BEIA
9 KRR

Options :

920906102973. 1
920906102974. 2
920906102975. 3
920906102976. 4

Question Number : 44 Question Id : 92090626062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Chg AIRI4d0jo] 2tgre 3
ChChel o

) ZERE
2 XX
3 BEIA
4 RERMR

Options :

920906102973. 1
920906102974. 2
920906102975. 3
920906102976. 4

Question Number : 45 Question Id : 92090626063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che APRREO{S] S22 S8 124A 2.

SEHRRE

1) Serious affair
2) Wind blowing in the east
3) Horses of Mongolia

4) Utter indifference

Options :

920906102977. 1
920906102978. 2
920906102979. 3
920906102980. 4

Question Number : 45 Question Id : 92090626063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che AMAREOjS] 2SH2 =8 NE4A|R.

1) Serious affair
2) Wind blowing in the east
3) Horses of Mongolia

4) Utter indifference

Options :

920906102977. 1
920906102978. 2
920906102979. 3
920906102980. 4

Question Number : 45 Question Id : 92090626063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs AMAREO{S] 2SH2 8 N24A2.

1) Serious affair
2) Wind blowing in the east
3) Horses of Mongolia

4) Utter indifference

Options :

920906102977. 1
920906102978. 2
920906102979. 3
920906102980. 4

Question Number : 46 Question Id : 92090626064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Forest
2} Mother Nature
3) Mountain Valley

4} Mountain and River

Options :

920906102981. 1
920906102982. 2
920906102983. 3
920906102984. 4

Question Number : 46 Question Id : 92090626064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs THALOjO] 22 8 1 EHAR,

LJIEAR

1) Forest
2} Mother Mature
3) Mountain Valley

4} Mountain and River

Options :

920906102981. 1
920906102982. 2
920906102983. 3
920906102984. 4

Question Number : 46 Question Id : 92090626064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Forest
2} Mother Nature
3) Mountain Valley

4} Mountain and River

Options :

920906102981. 1
920906102982. 2
920906102983. 3
920906102984. 4

Question Number : 47 Question Id : 92090626065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1) School Annual Meet
2) Animal Husbandry
3) East Gate Entry

4) Alumni Association

Options :

920906102985. 1
920906102986. 2
920906102987. 3
920906102988. 4

Question Number : 47 Question Id : 92090626065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1} School Annual Meet
2) Animal Husbandry
3) East Gate Entry

4} Alumni Association

Options :

920906102985. 1
920906102986. 2
920906102987. 3
920906102988. 4

Question Number : 47 Question Id : 92090626065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1} School Annual Meet
2) Animal Husbandry
3) East Gate Entry

4) Alumni Association

Options :

920906102985. 1
920906102986. 2
920906102987. 3
920906102988. 4

Question Number : 48 Question Id : 92090626066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) 22 W30 Af? S EEICH

2) Y& o ES Haldt

3) A8

4) SN © 97|
Options :
920906102989.
920906102990.

920906102991.
920906102992.

AW N —

Question Number : 48 Question Id : 92090626066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1) 22f M2 ML & HEIC
2) Y& L0 28§ Holct
3) a8

4) S9N © 97|

Options :

920906102989.
920906102990.
920906102991.
920906102992.

AW N —

Question Number : 48 Question Id : 92090626066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) 22 W30 Af? S EEICH

2) Y& o ES Haldt

3) A8

4) SN © 97|
Options :
920906102989.
920906102990.

920906102991.
920906102992.

AW N —

Question Number : 49 Question Id : 92090626067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il
oo

B o2 T8 N24AM2

OH
03

1) Emotions
2) Sympathy
3} Pain

4) Appetite

Options :

920906102993. 1
920906102994. 2
920906102995. 3
920906102996. 4

Question Number : 49 Question Id : 92090626067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Emotions
2) Sympathy
3) Pain

4) Appetite

Options :

920906102993. 1
920906102994. 2
920906102995. 3
920906102996. 4

Question Number : 49 Question Id : 92090626067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cte 39| 222 8 124A 2.

oo

OH
0y

1) Emotions
2) Sympathy
3) Pain

4) Appetite

Options :

920906102993. 1
920906102994. 2
920906102995. 3
920906102996. 4

Question Number : 50 Question Id : 92090626068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che 2910 292 S8 124A 2.
Hefa

1) Interchange
2) Trading

3) Barter

4) Exchange

Options :

920906102997. 1
920906102998. 2
920906102999. 3
920906103000. 4

Question Number : 50 Question Id : 92090626068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cte 230 292 S8 12 4A 2.
Hejf 2

1) Interchange
2) Trading

3) Barter

4} Exchange

Options :

920906102997. 1
920906102998. 2
920906102999. 3
920906103000. 4

Question Number : 50 Question Id : 92090626068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Che 2910 292 S8 124A 2.
Hefa

1) Interchange
2) Trading

3) Barter

4) Exchange

Options :

920906102997. 1
920906102998. 2
920906102999. 3
920906103000. 4

Question Number : 51 Question Id : 92090626069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1) Interaction
2} Intervention
3) Mutual Benefit
4} Brand Value

Options :

920906103001. 1
920906103002. 2
920906103003. 3
920906103004. 4

Question Number : 51 Question Id : 92090626069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1) Interaction
2} Intervention
3) Mutual Benefit
4} Brand Value

Options :

920906103001. 1
920906103002. 2
920906103003. 3
920906103004. 4

Question Number : 51 Question Id : 92090626069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cts E3o| 222 S8 n24A2.

1) Interaction
2) Intervention
3) Mutual Benefit
4} Brand Value

Options :

920906103001. 1
920906103002. 2
920906103003. 3
920906103004. 4

Question Number : 52 Question Id : 92090626070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) O] B0 YoU2 JE NEMA 2,

19459 8 H 15 Y2 50| Y222 REH ZAE EFE2 22, S50 ME 0| 2 (
)0l/2ta SEL

1) HHE
2) H=E
3) 31 %8
4 H=E
Options :
920906103005. 1
920906103006. 2

920906103007. 3
920906103008. 4

Question Number : 52 Question Id : 92090626070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )0l S0{Z U2 28 12HAL.

1945 8 € 15 2L B20| YRo2RE IS RS UE, HI0|ME 0 H2 (
)ol/zta s2ct

1) HEE
2) M#H
3) 31 %8

4 Z=x

Options :

920906103005. 1
920906103006. 2
920906103007 3
920906103008. 4

Question Number : 52 Question Id : 92090626070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) O] B0 YoU2 JE NEMA 2,

19459 8 H 15 Y2 50| Y222 REH ZAE EFE2 22, S50 ME 0| 2 (
)0l/2ta SEL

1) 7fHE
2) MzE
3 318

4 Z=H

Options :

920906103005. 1
920906103006. 2
920906103007 3
920906103008. 4

Question Number : 53 Question Id : 92090626071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2t

ne

2 A8 A=Y 2.
oLt & S Ao Cist AYso|L 228 0|2 T

1) 7
2) 0|
3)
4) I

Options :

9209061030009. 1
920906103010. 2
920906103011. 3
920906103012. 4

Question Number : 53 Question Id : 92090626071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 Y2 A N2HA L.
Lefut & S dojof cist WsolL 2EE o2& B

1 7
2) 0|
3)
4) 1

Options :

9209061030009. 1
920906103010. 2
920906103011. 3
920906103012. 4

Question Number : 53 Question Id : 92090626071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2t

ne

HE2 A8 DEYAR.
Lefut & S dojof cist YsolL 2EE o2& B

1) 7
2) 0Oj
3)
4) Ij

Options :

920906103009. 1
920906103010. 2
920906103011. 3
920906103012. 4

Question Number : 54 Question Id : 92090626072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sl
——
¥al
L)
o
=]
]
ro
]

HM HEE 871 0lds 7120 2229 5322 4H| #5E ofX| g1, ojelofLt
52 & OE AHA 2ESH= dE E50 0jl2& &

1) &

2) dx4

3) E8Y4

4) A4

Options :

920906103013. 1
920906103014. 2
920906103015. 3
920906103016. 4

Question Number : 54 Question Id : 92090626072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mg ES2 AE n2HAL.

o

7= d s 712H 2229 5322 4H| 58 5K &4, 0§210[Lt

HM HE
S CHE Aol o|ESHE od 8 250 0|2 T

L
Hd

I
Mooy oA
o A L
L 0o

=
L

4)

Options :

920906103013. 1
920906103014. 2
920906103015. 3
920906103016. 4

Question Number : 54 Question Id : 92090626072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sl
——
¥al
L)
o
=]
]
ro
]

HM HEE 871 0lds 7120 2229 5322 4H| #5E ofX| g1, ojelofLt
2 § CHE MHOAH 2ESte dE 50| 0|2 2

1) &

2) dx4

3) E8Y4

4) MY

Options :

920906103013. 1
920906103014. 2
920906103015. 3
920906103016. 4

Question Number : 55 Question Id : 92090626073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEE SHoz O|ROT = AlAe 2, EX|, 84, 22, 15 S Lete] Fa 7|50
22 A= X

1) =%
2) BXA
3) FE
4 &4
Options :

920906103017. 1
920906103018. 2
920906103019. 3
920906103020. 4

Question Number : 55 Question Id : 92090626073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEE SHSE o|ROT iAoz, BX|, X, 22t 18 § H2tel F8 7|50|
22 A X

1) B
2) AxA
3) Frd
4 $E

Options :

920906103017. 1
920906103018. 2
920906103019. 3
920906103020. 4

Question Number : 55 Question Id : 92090626073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 48 12HAM 2.

b |
oz
e
"2

SH2E O|RNT Ci=AlA2 2, BX|, EH, 22t 1§ § Uatel F8 ?7|50|

Al

-
=4

1) 2o
2) HxA
3) FE
4 22

Options :

920906103017. 1
920906103018. 2
920906103019. 3
920906103020. 4

Question Number : 56 Question Id : 92090626074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEo|L XA S 2/5H a2z 2of sllojHq M2 2t = gl & 71F

i

J

1) #7215

2) O|M7HF
3) HIE?| 7t5
4) A=

Options :

920906103021. 1
920906103022. 2
920906103023. 3
920906103024. 4

Question Number : 56 Question Id : 92090626074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o
oz

FE 22 28 12HA L,

Ex
o

of Lt

—

x|
S

AT

ol

ofH gelcz Q& lojHq M2 TS = gl & 75

1) WiE

2) O|MIE
3) HIE?| 7tF
4) HANE

Options :

920906103021. 1
920906103022. 2
920906103023. 3
920906103024. 4

Question Number : 56 Question Id : 92090626074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7hE o2 g n24A R

HEo|L Rams] S 2 #5 ooz Qb JofH M=z 2 == gl & 7=

J

1) HILF

2) O|MZIE
3) H=E?| 715
4) EACHE

Options :

920906103021. 1
920906103022. 2
920906103023. 3
920906103024. 4

Question Number : 57 Question Id : 92090626075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 252 AE 124

ZEAOLt TX| I =515t K& LHERZ| 21510 We =

lo

1)
2)
3)
4)

o
ob ob op op

0¥ M B AT
1o

0t

Options :

920906103025. 1
920906103026. 2
920906103027. 3
920906103028. 4

Question Number : 57 Question Id : 92090626075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7hE L2 A8 12HA R

ZEAO|L} THA| I =5tste T8 LHEHLZ| ?I5to] We &

lo

1)
2)
3)
4)

o
ol ob op op

0t

o M B T
1o

Options :

920906103025. 1
920906103026. 2
920906103027. 3
920906103028. 4

Question Number : 57 Question Id : 92090626075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hg SR2 UE 12HAL,

FEAO|L} T I =356t & LHEHLZ| 9I5t0] We =

lo

1)
2)
3)
4)

M AT
lo

1o
ob ok op op

oX
ot

Options :

920906103025. 1
920906103026. 2
920906103027. 3
920906103028. 4

Question Number : 58 Question Id : 92090626076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

920906103029. 1
920906103030. 2
920906103031. 3
920906103032. 4

Question Number : 58 Question Id : 92090626076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g SR g N2HAL.

Options :

920906103029. 1
920906103030. 2
920906103031. 3
920906103032. 4

Question Number : 58 Question Id : 92090626076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

920906103029. 1
920906103030. 2
920906103031. 3
920906103032. 4

Question Number : 59 Question Id : 92090626077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

>
0z
ne
na
rfo

A D24 N2,

b

e
T
w0
o~
1

AL &2l F0)7| 2l 2HE €8 A0 g}

rir
re
Ju

ud —

= R R 1.
JU B o2 o

oy

&
e

Options :

920906103033. 1
920906103034. 2
920906103035. 3
920906103036. 4

Question Number : 59 Question Id : 92090626077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103033. 1
920906103034. 2
920906103035. 3
920906103036. 4

Question Number : 59 Question Id : 92090626077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103033. 1
920906103034. 2
920906103035. 3
920906103036. 4

Question Number : 60 Question Id : 92090626078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103037. 1
920906103038. 2
920906103039. 3
920906103040. 4

Question Number : 60 Question Id : 92090626078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103037. 1
920906103038. 2
920906103039. 3
920906103040. 4

Question Number : 60 Question Id : 92090626078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103037. 1
920906103038. 2
920906103039. 3
920906103040. 4

Question Number : 61 Question Id : 92090626079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIZCHAIZ]0f ot2 0|, ofZBa 91 usE YAE AHE 7|2
1) Mg
2) AHE
3) 29
4) MY
Options :

920906103041. 1
920906103042. 2
920906103043. 3
920906103044. 4

Question Number : 61 Question Id : 92090626079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103041. 1
920906103042. 2
920906103043. 3
920906103044. 4

Question Number : 61 Question Id : 92090626079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103041. 1
920906103042. 2
920906103043. 3
920906103044. 4

Question Number : 62 Question Id : 92090626080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103045. 1
920906103046. 2
920906103047. 3
920906103048. 4

Question Number : 62 Question Id : 92090626080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103045. 1
920906103046. 2
920906103047. 3
920906103048. 4

Question Number : 62 Question Id : 92090626080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103045. 1
920906103046. 2
920906103047. 3
920906103048. 4

Question Number : 63 Question Id : 92090626081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
It 2 A8 DEYAR.
Otz 0|0 B8 X|H Yo & WA H<fes ' 2

1) 8lE72|
o W =
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Options :

920906103049. 1
920906103050. 2
920906103051. 3
920906103052. 4

Question Number : 63 Question Id : 92090626081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103049. 1
920906103050. 2
920906103051. 3
920906103052. 4

Question Number : 63 Question Id : 92090626081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
7t 22 A8 DEYAR.
Or=Z 0|0 28 X|H WoleE s o2& e FX
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Options :

920906103049. 1
920906103050. 2
920906103051. 3
920906103052. 4

Question Number : 64 Question Id : 92090626082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

920906103053. 1
920906103054. 2
920906103055. 3
920906103056. 4

Question Number : 64 Question Id : 92090626082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

920906103053. 1
920906103054. 2
920906103055. 3
920906103056. 4

Question Number : 64 Question Id : 92090626082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

920906103053. 1
920906103054. 2
920906103055. 3
920906103056. 4

Question Number : 65 Question Id : 92090626083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103057. 1
920906103058. 2
920906103059. 3
920906103060. 4

Question Number : 65 Question Id : 92090626083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103057. 1
920906103058. 2
920906103059. 3
920906103060. 4

Question Number : 65 Question Id : 92090626083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103057. 1
920906103058. 2
920906103059. 3
920906103060. 4

Question Number : 66 Question Id : 92090626084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
920906103061. 1
920906103062. 2
920906103063. 3
920906103064. 4

Question Number : 66 Question Id : 92090626084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) Ol S0{Z 71 222 28 12HAM 2.
( 12/ BUEE2E X x| x2| HF 0|} ofFo| CE=o0|C}

1) X7}

2) dird=x

3) SHI0{H7t

2) egusl
Options :
920906103061. 1
920906103062. 2
920906103063. 3
920906103064. 4

Question Number : 66 Question Id : 92090626084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103061. 1
920906103062. 2
920906103063. 3
920906103064. 4

Question Number : 67 Question Id : 92090626085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103065.
920906103066.
920906103067.
920906103068.
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Question Number : 67 Question Id : 92090626085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 67 Question Id : 92090626085 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103065.
920906103066.
920906103067.
920906103068.
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Question Number : 68 Question Id : 92090626086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103069. 1
920906103070. 2
920906103071. 3
920906103072. 4

Question Number : 68 Question Id : 92090626086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

920906103069. 1
920906103070. 2
920906103071. 3
920906103072. 4

Question Number : 68 Question Id : 92090626086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

920906103069. 1
920906103070. 2
920906103071. 3
920906103072. 4

Question Number : 69 Question Id : 92090626087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103073. 1
920906103074. 2
920906103075. 3
920906103076. 4

Question Number : 69 Question Id : 92090626087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103073. 1
920906103074. 2
920906103075. 3
920906103076. 4

Question Number : 69 Question Id : 92090626087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103073. 1
920906103074. 2
920906103075. 3
920906103076. 4

Question Number : 70 Question Id : 92090626088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103077. 1
920906103078. 2
920906103079. 3
920906103080. 4

Question Number : 70 Question Id : 92090626088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103077. 1
920906103078. 2
920906103079. 3
920906103080. 4

Question Number : 70 Question Id : 92090626088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103077. 1
920906103078. 2
920906103079. 3
920906103080. 4

Question Number : 71 Question Id : 92090626089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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920906103081.
920906103082.
920906103083.
920906103084.
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Question Number : 71 Question Id : 92090626089 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103081.
920906103082.
920906103083.
920906103084.

AW N~

Question Number : 71 Question Id : 92090626089 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103081.
920906103082.
920906103083.
920906103084.

AW N —

Question Number : 72 Question Id : 92090626090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103085. 1
920906103086. 2
920906103087. 3
920906103088. 4

Question Number : 72 Question Id : 92090626090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103085. 1
920906103086. 2
920906103087. 3
920906103088. 4

Question Number : 72 Question Id : 92090626090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103085. 1
920906103086. 2
920906103087. 3
920906103088. 4

Question Number : 73 Question Id : 92090626091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cls & 71 9 odsh ZiE D24 A2,
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A OIS 8 FCt . HEARCH
B. OFS0f| XtCt Il. L25}Ct
C. O30 EC} . Al 2|8kCH
D. O}80| £X3|IC} Iv. SO0}t

1. A-IV, B-l, C-l, D-III
2. A-IV, B-I, CHII, DI
3. A-lll, B-l, C-IV, DI

4. A-lll, B-1I, C-IV, D-

Options :

920906103089. 1
920906103090. 2
920906103091. 3
920906103092. 4



Question Number : 73 Question Id : 92090626091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cls & 71 94H Hgst ZiE 124AM 2.
List I List Il
A O2&8 FCt | b=~}
B. OFSO XiC} Il. S25ICt
C. 030 EC} n. A2 sjct
D. Op2 0| 283s}c} Iv. E0ts}C}
1. A-IV, B-I, C-II, D-II

2. A-IV, B-I, C-Il, D-I

. AL B-1, G-IV, DA

Ll

4. A-lll, B-1I, C-1V, DA

Options :

920906103089. 1
920906103090. 2
920906103091. 3
920906103092. 4

Question Number : 73 Question Id : 92090626091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. O}20f XjC} Il. 25}ct
C. 020 st} . Al 2|shct
D. O20| ™s}C} IvV. E0}t5iCt
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Ll

. AL B-1, C-IV, DI

4. A-lIL, BN, C-IV, DA

Options :

920906103089. 1
920906103090. 2
920906103091. 3
920906103092. 4

Question Number : 74 Question Id : 92090626092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-Iv, B, C-, D-il
2. A-IV, B-1, C-lll, D-I
3. A-lll, B-l, C-IV, D-lI
4. A-lll, B-1l, C-1V, DA

Options :

920906103093. 1
920906103094. 2
920906103095. 3
920906103096. 4

Question Number : 74 Question Id : 92090626092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List 1 | List Il

A HEE . O{H 2o 230 270 22 HEHe| BF =E 9|
EEkito| Hl .

B. A4
I LEs MEOILE X[ 2.

C. H|E
. LO|Lt +=%X|7} . £&= LO|L} =X E =Y

D. 24

Iv. 20|t B, X9 W€ XAl UE B E.

1. A-Iv, B, C-, D-il
2. A-IV, B-1, C-lll, D-I
3. A-lll, B-l, C-IV, D-lI
4. A-lll, B-1l, C-1V, DA

Options :

920906103093. 1
920906103094. 2
920906103095. 3
920906103096. 4

Question Number : 74 Question Id : 92090626092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



List 1 List Il

A HEE . O{H 2o 230 270 22 HEHe| BF =E 9|
ke b &

B. A4
I, L LMEO|LE X2

C. H|E
. LO|Lt +=%X|7} . £&= LO|L} =X E =Y

D. 24

Iv. 20|t B, X9 W€ XAl UE B E.

1. A-IV, B-lI, CH, -1
2. A-IV, B-1, C-lll, D-I
3. A-lll, B-l, C-IV, D-lI
4. A-lll, B-1l, C-1V, DA

Options :

920906103093. 1
920906103094. 2
920906103095. 3
920906103096. 4

Question Number : 75 Question Id : 92090626093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che 232 71 22 T8 12HA L.

H ek sl X|5hct

1. To sign an agreement

2. To terminate an agreement

3. To renew an agreement

4. To revise an agreement
Options :

920906103097. 1
920906103098. 2
920906103099. 3



920906103100. 4

Question Number : 75 Question Id : 92090626093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chs B9 7t 22 T8 N2HA 2

H et g off ISt

1. To sign an agreement

2. To terminate an agreement

3. To renew an agreement

4. To revise an agreement
Options :

920906103097. 1
920906103098. 2
920906103099. 3
920906103100. 4

Question Number : 75 Question Id : 92090626093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che B30 7H3 22 X8 N24A L.

Hetg off ISt

1. To sign an agreement

2. To terminate an agreement

3. To renew an agreement

4. To revise an agreement
Options :

920906103097. 1
920906103098. 2
920906103099. 3
920906103100. 4



Question Number : 76 Question Id : 92090626094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CtaE S0 71E 9492 BdE N2HAR
2 HALZ M2 £Z0|BM EHYSE E
1 e E
2 Asd
3 oHeE
4. 3HY
Options :

920906103101. 1
920906103102. 2
920906103103. 3
920906103104. 4

Question Number : 76 Question Id : 92090626094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cle€ 210 7H8 S92 28 n24A 2.
e ARE2 M2 £0|HM FAHYol= 2
1. TRE
2. A=
3. HeEE
4.  3FY

Options :

920906103101. 1
920906103102. 2
920906103103. 3
920906103104. 4

Question Number : 76 Question Id : 92090626094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e

JHHE HALZ M2 S0|HM SHYSI= ¢
1 Tted
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4. =54

Options :

920906103101. 1
920906103102. 2
920906103103. 3
920906103104. 4

Question Number : 77 Question Id : 92090626095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) off S0j2 R2 HE D2,

SR oI5 ( o CHIZ- ol ZTHH FHSUA HHE
st Act

2008
2009
2014
2015

o opa

Options :

920906103105.
920906103106.
920906103107.
920906103108.

AW N =

Question Number : 77 Question Id : 92090626095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



( ) 0| SO0{Z LU HE NEHAL,

S ol ( Ol THEH RISl T FHSUR HHE
HZBAC

2008
2009
2014
2015

Bow oo =

Options :

920906103105.
920906103106.
920906103107.
920906103108.

AW N~

Question Number : 77 Question Id : 92090626095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
( ) off S0j2 R2 HE D2,

SR oI5 ( o CHIZ- ol ZTHH FHSUA HHE
st Act

2008
2009
2014
2015

b W Pa —

Options :

920906103105.
920906103106.
920906103107.
920906103108.

AW N =

Question Number : 78 Question Id : 92090626096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103109. 1
920906103110. 2
920906103111. 3
920906103112. 4

Question Number : 78 Question Id : 92090626096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

)0l S0{Z U2 THE D242,
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Options :

920906103109. 1
920906103110. 2
920906103111. 3
920906103112. 4

Question Number : 78 Question Id : 92090626096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



( )0l S0{Z 222 HE 124A2.
( ) St ( ) #me] X Mo ojojst MAMIE S 20| 2K
UACEH.

1. oNg, ooty

2 2HE U

3. Qg oig

4 eftd, HEA

Options :

920906103109. 1
920906103110. 2
920906103111. 3
920906103112. 4

Question Number : 79 Question Id : 92090626097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( )Off S0 Y2 g NEHA L,

CgtRl=ol 52522 2022 Ao FYek 20] ( )O|CL.

o
O
MO

H1

B e =
rok M
n

oo 4+ 02

40
P

Options :

920906103113. 1
920906103114. 2
920906103115. 3
920906103116. 4

Question Number : 79 Question Id : 92090626097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chetl=e] S RE22 2022 |0 FHYSH 20| ( )O|Ct.
1. pER
2. 4=
3. o+
4. 28
Options :

920906103113. 1
920906103114. 2
920906103115. 3
920906103116. 4

Question Number : 79 Question Id : 92090626097 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( ) O] B0 Y2 HhE NEMAL,

CetRl=e] 52522 2022 Ao FYek 20] ( )O|Ck.

B oW =
et gy ore
i Hooo

oo 4> 02 Ho

40
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Options :

920906103113. 1
920906103114. 2
920906103115. 3
920906103116. 4

Question Number : 80 Question Id : 92090626098 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2
mn
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e
ne
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rlo
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|
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.l
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1. X C
2. oIt
3, &7|Ct
4. o[t
Options :

920906103117. 1
920906103118. 2
920906103119. 3
920906103120. 4

Question Number : 80 Question Id : 92090626098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

)0l S0{Z LU HFE MM,

—

HEE ( . =HE ( ).
1. X C
2. oIt
3, &7|Ct
4. o[t
Options :

920906103117. 1
920906103118. 2
920906103119. 3
920906103120. 4

Question Number : 80 Question Id : 92090626098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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mn
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e
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rlo
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}
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to

HEE ( . =HE ( ).
1. X C
2. oIt
3, &7|Ct
4. o[t
Options :

920906103117. 1
920906103118. 2
920906103119. 3
920906103120. 4

Question Number : 81 Question Id : 92090626099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHe g 9 ( ) O S0{Z YL B N2HAIL.
UAHO| =2h3tD U WL OIN AL OOJF LIEILID, ¢ oA 82

S Off 2| A 2 Of| A
s
o 2|

2H

B L o =

Options :

920906103121. 1
920906103122. 2
920906103123. 3
920906103124. 4

Question Number : 81 Question Id : 92090626099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ce& 211 ( ) Ol S0{Z 222 HE N2HAL,

UAHO| =2h3tD U WL OIN AL OOJF LIEILID, ¢ oA 82

SO Al M 2 E oA
s
o 2|

2H

B L o =

Options :

920906103121. 1
920906103122. 2
920906103123. 3
920906103124. 4

Question Number : 81 Question Id : 92090626099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHe g 23 ( ) O S0jZ UL ©HE A2 AL
Aol 2Bt Y= TR OIN ArZe| 2J0|7F LEERLR, ¢ )0lIA| 22l

SO A M 2 E O A
e
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Options :

920906103121. 1
920906103122. 2
920906103123. 3
920906103124. 4

Question Number : 82 Question Id : 92090626100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ChE& S ( ) Ol S0{Z ZH2 HE 1E2HAL,

( ) 2/ RQIZ0| 7| g 53 X|AIQlo] LYBIO| Ch3 A0 A SLst0f
ApZ=ol0) 0|2 F7to|C CER o2 E2AMo| HIAT2), UHF, MOy 50| Uk

Hr 0z pe o
X ox M

jni*}

e L P =
ok p@ oo™ oM

Options :

920906103125. 1
920906103126. 2
920906103127. 3
920906103128. 4

Question Number : 82 Question Id : 92090626100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Che& 211 ( ) o S0{Z 222 HE J2HAL,

( ) 2/ Rt@ize| 7)Y g So K|Alolo| LyBo| Chet D& ofA FLsI0]
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Options :

920906103125. 1
920906103126. 2
920906103127. 3
920906103128. 4



Question Number : 82 Question Id : 92090626100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ChE& S ( ) Ol S0{Z ZH2 HE 1E2HAL,

( ) 2/ X@FO| |8 S8 X|A|9l0] L{BI0) T3t DA SL5t0]
ApZE2|0f 0|2 A7tolCt HERC 2 "EE240| AT al, BT, M 50| Uct

Hr 0z pe o
x oox M

jni*}

e L P =
ok p@ oo™ oM

Options :

920906103125. 1
920906103126. 2
920906103127. 3
920906103128. 4

Question Number : 83 Question Id : 92090626101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103129. 1
920906103130. 2
920906103131. 3
920906103132. 4



Question Number : 83 Question Id : 92090626101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHE& Sl ollE A& EHA 2.
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rlo
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Options :

920906103129. 1
920906103130. 2
920906103131. 3
920906103132. 4

Question Number : 83 Question Id : 92090626101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHe 8 93 diE Al D24AL.

"e2 &L OfoF ArEtete Liel HE st

I Lad P

o K 2 oC
oY o nd lo
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Options :

920906103129. 1
920906103130. 2
920906103131. 3
920906103132. 4

Question Number : 84 Question Id : 92090626102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Cte8 811 ( ) Ol S0{Z A2 HE N2HA 2
dEds, R, M2, 1964 @ HE 52| FHIME ( ) O|Ct.
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Options :

920906103133. 1
920906103134. 2
920906103135. 3
920906103136. 4

Question Number : 84 Question Id : 92090626102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103133. 1
920906103134. 2
920906103135. 3
920906103136. 4

Question Number : 84 Question Id : 92090626102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ChS&8 811 ( ) Ol E0{Z2 222 HE n2dA2
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Options :

920906103133. 1
920906103134. 2
920906103135. 3
920906103136. 4

Question Number : 85 Question Id : 92090626103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHE8 911 ( ) Ol S0 o2 HE N24A|2,
AR CH2|olM 22 RME UHEZ ol &3 ME ( ).
1. WHCH
2. M=t
3. Alnsict
4. 2|2|5Hct
Options :

920906103137. 1
920906103138. 2
920906103139. 3
920906103140. 4

Question Number : 85 Question Id : 92090626103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CHS8 S ( ) Ol S0{Z 232 H& N2HAL
LAY ChE|oM 22| fA = HEZ 0|3 WE ( )-

1. WCH

2. LMLk

3. 4lasict

4. 9|2|5ic}
Options :

920906103137. 1
920906103138. 2
920906103139. 3
920906103140. 4

Question Number : 85 Question Id : 92090626103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHE&8 9141 ( ) Ol 0|2 22 HE N2HA|2
SRR CigolM 22| fME CHEZ o843 WE ( ).

LiCH
LH M| <C}
Asict

o|2|5kct

il

Options :

920906103137. 1
920906103138. 2
920906103139. 3
920906103140. 4

Question Number : 86 Question Id : 92090626104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103141. 1
920906103142. 2
920906103143. 3
920906103144. 4

Question Number : 86 Question Id : 92090626104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103141. 1
920906103142. 2
920906103143. 3
920906103144. 4

Question Number : 86 Question Id : 92090626104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103141. 1
920906103142. 2
920906103143. 3
920906103144. 4

Question Number : 87 Question Id : 92090626105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CHE& 811 ( ) Ol S0jZ 222 HE N2HA2,
HEHE SHUL22 ( )0 4 ZiCt

1. FEH
2. gH4d
3 &
4. Thapit
Options :

920906103145. 1
920906103146. 2
920906103147. 3
920906103148. 4

Question Number : 87 Question Id : 92090626105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ce& 211 ( ) O S0{Z 222 B8 N2HA2,
HEHE FHUSZ ( )O| 2Lt

1. #EH
2, BEH
3. 7E
4. otapt
Options :

920906103145. 1
920906103146. 2
920906103147. 3
920906103148. 4

Question Number : 87 Question Id : 92090626105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2l ( ) O] S0|Z U2 HE L2HAL.
= =1 )O| HZACtH

z L
oo
ko

-
Mk
=

Al
(=]

o
|0

r
rx

1
4l

Lad M —3
[
il
=

4.

ret
'
o
&

Options :

920906103145. 1
920906103146. 2
920906103147. 3
920906103148. 4

Question Number : 88 Question Id : 92090626106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103149. 1
920906103150. 2
920906103151. 3
920906103152. 4

Question Number : 88 Question Id : 92090626106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 2 EHE 124N
Mg M7\t 272 ZaHel S A0l ULt
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Options :

920906103149. 1
920906103150. 2
920906103151. 3
920906103152. 4

Question Number : 88 Question Id : 92090626106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103149. 1
920906103150. 2
920906103151. 3
920906103152. 4

Question Number : 89 Question Id : 92090626107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

920906103153. 1
920906103154. 2
920906103155. 3
920906103156. 4

Question Number : 89 Question Id : 92090626107 Question Type : MCQ Option Shuffling : No Is
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